A 25 (55 7 R B94R)
w6 EE HIR—ERASRE

“HE3-5-6 K

I, z| & M W B
LN 14,991,468 P
iR 12,334,755 [
7= G1 2,666,713 [
0 A PRER
TH H & fid #
3+5-6K%HS
Hivkelk — FE 22 & 3,430,900 H [BAIRLT HEBH &
s B e M
FOMOTH &% 664,309 [ |V Y1 2 VAEENE
thEBUHESE LS 19,150 M
Bits 1,299,600 [
HEIA 5,186,482 P |ErEiEdEsE 4
1E - B X R 1,337,886 {3 -5 - 6[X%
TR e R EReR
F O A 258,060 Y T
AT > D D4 2,795,081 1B
&t 14,991,468 [




BERa

5 (HT 4 BIR)

L HIPER
H H H H W %
Ei 150,822)id%, RAARLE
BN | Lienaeng AR, miRkey |
L A —i LA (R AR
Hist 4 ﬂﬁﬁ‘ﬁ’ 77”71,7054,988 B (T E
EHH 450,676 ‘jt;%gf: f” AR
RSB | ) 5,600, 182 | 55 B - A L BN
TR R 98,420 HAFRBREL
S 60,889 R 7e L
LMl 209,224 (B AL ERE
gAY T ] D R
EALE 469,150 FliE - T Eb AT H
[l 42 Wk 30,000 [alAF &~
HEI )& 200,000{ 852 5755~
A5 [T BY 4
{4
X
% CuhERB) 699,1501,
# Bi 0% 1,600,000
KEDH 300,000
HHOERRE 250,000
B R TR 160,000
TONEO . 2se0000]
b bR 70,243[BE S, BFE R R
O
E =
NG 50,170} AR
B EAb
k=
CNERE) o soat0|
A .
‘H %{_ﬁ.*ﬁy_ .....
xt
& DA BiAH=E 362,200 HifE B 18
% e et A 500
AT (A~TF) 12,334,755/,
R 2,656,713|




